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The question paper has four sections.

T GUSH ST FTITT THIHT T HHT TG |
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The answers to each section must be written at one place.

JITGEIT FITTAJIRE STeTRT AGH T |
97-U7 & TAR Fo7-T&T 3797 &1 fera! &1 |

Write the question number according to the question paper.

FIV] eI IV Gegpa= G |
Ty 991 & I qEPd 4 1071&q |

Answer all the questions in Sanskrit.
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@us: < (SECTION A)
AfSATIT-STaaTeH (SAfSarT-srasie)

Unseen Reading Comprehension 10 3AST:

NIRRT ST IfSca TEAITAH IV HEehaA for@d |
frfafiea sTg=sg 1 Teeht feu U wodi o W H&hd # fofen |

Read the following prose passage and write the answer of the given
questions in Sanskrit.

e Are-foeme W wg | Wien s Afas =it =
o gureafa | e arepfahi gfsey Igateafa | adam-fen-ugd Sehe
gafgior-faepreea aishedn aifed | Ay e g fawae iy steg
i g@ed | 3w & fogmm, wfve, omed, sfoemm,  Stefmew,
ToHfaeTey, w@fidy, SIS (computer) STEH: | FdHH-fITan-ugat
forfegan: Foeht: Jacwe HisH 20 Heal WX & Te@ Uiy ke Jeda=d: |
srqug fyen e HEemty et | frferat: gaent: wetemom wfa STk
vafed | 3TETeh oF fer ) hisfy are: 1fy aren @ sieriare F s9ad sfd
IMEH S | 3Id: e 9 shaet Hashed o e $fug.-an wseriiam 31fy

U |

q9T:

(31) e ITHA | (cheed TSI
T 36 H I GINT | (hadt IR T9)

Answer in one word. (Only four questions) éx4=2

() Tien e e et 2

(i) AA-ToehTe | T1e fore ?

(i) e <higeft gfeen Igegafa ?

(iv) Torferar: gaer: M T fd TRt waf= ?

(v) STThed Falg VIl H qHehedHT e ?
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UIATERA 3T | (had TegIH)
Ul e B IR N | (SFad @ Ie)
Answer in a complete sentence. (Only two questions)
(i) Toren hgy fawm qureard ?
(i) mEd foh sRIaa 2
(iii) IdH-TTeT-ugat sTeteh: i fawam afu e 2
AT ITA | (had TeT=geesd)
frdagam 3w T | (haet =’ )
Answer according to instructions. (Only four questions)
() ‘oifed’ 3fa foRamuee g form 2
() fen
(i)  aieReTHT
(iii) STeToh:
(@) ‘foferar’ sfa fommorresr foereme for ggeam 2
(1) dTcARI:
(i1) . Fdepl:
(i) SERT:

Ix2=2

Ix4=4

(M) ‘@ TsgiErE | Al A s A e 30 gemee. e

SR, ?
() S
() TEme
(i) gored
(7) em: 39 foh qafEdeH 31 Wy ?
(i) ToeRrEm
Gi) o
(iii) =TGR
(¥) ‘T s foh foetmugy o= wgem ?
i) 3y
(ii) foeprEy
(iii) &M
I AT hd IUYh IT¥eh &R o7 @d |
TH TG o (oY IUFeh 3o Hepa H ferfay |

Write the appropriate title for this passage in Sanskrit.
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@vus: @ (SECTION B)
TEATCHERERTEH (TEATeHS-3T )

Writing Skills

i wfa s1efeifad o AesuTeTRmee: R 4: foeq |

15 3

i =1 fore T Frefctfiad o 1 Hee W fou 7Tu Sreg) i FEraT 9 U O

fafey |

Complete the following letter, written to your friend, with the help of the

words given in the box and rewrite the same.

o i mya,
(i) |

3 FICA TG | ' (i)

1 10=5
2

TR STATSTET

fere:

TSI SqEd: 3T |
3: faored 0@ TR SR-GE | AN 9¥ WU TUAeACaEe

MHRTERET 90T (iii)

| 3rTeh foener B

(iv) YERH IPa | IME AT (v)
Y | BEWT TS & e (vi)

TSI

sty

IR | TS HEAH qsheveeHT, fafesauit afgwant,

(vii) T gl g TRAT: AT | (viii)
STCATSCATT: TG qF qOF: 91 | (ix) el |
HId:
(%) HRW: |
TSIt
Te:, fUadl, dued, "W, e, TSuem, @i, Ao,
A CTETIRIES, TEEsaTs: |
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Y: Tad o 5 Hos[W SGTRTeeHl 9eAq Usd aalT+ §%ha fo@d |

et few e forr o1 ol weon # U e wrsdl A1 wern § ute Hehd AT H

HIT |
Describe the following picture in five Sanskrit sentences with the help of
the words given in the box below. 2x5=10

il

gefn: , ShISTEH, 14:, ST, odl, |id, 7@, 99, AN, 51, shief,

SIfAhT:, B9, wET:, Hd:, AR |

AAAT (OR)

HoSTIEaeeeHT HTar2 Frfaiad fawem ifushcy asaft: whaae: T
=g forad |

Too # fou MU wedi i wewdr @ fefafad faw W ute ged arel § T
IF=sg fafay |

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box. 2x5=10

“rregaman: wgwm
A

oo, WesdEl:, IRH, 3L, UMM, T, WRERR, TEATCHH,
ST, WA, A8 JE=a1, FH TV, Jeel, Haedy |
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Qus: T (SECTION C)
FITFFAATHIUH (AT SATHIT)
Applied Grammar 25 A
sreifafaqary WETfgauey af- aft=sd a1 Fean foad | (Faet TRagsem)
frfafaa Il # @i oei # | sgar afufassg #eh fafen |

(had =R T¥H)
Write the underlined words of the following sentences after joining or
disjoining Sandhi’s. (Only four questions) 1x4=4

() 32 fouma ot + o e |

(i) S + T Gt @ |

(iii) B + 9 |

(iv) TcIhy STFE afe: SudTET: |

(v)  Uehal VSIS JMUfBT: a4 semy |

sreifafgaarry Yalgauer game famg o Seafaseus: fuan forga |
(Shaet ITTTIISIH )

et amet o Taiferd el o aumE - stan faug fou T fasweni & & g

fafan | (hae =R 99)

Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences. (Only four questions) 1x4=4

(%) it 9 9 T J&ATT HISH e |
(i) aforaTet
(i)  GTroTaTeH
(iii) roflaTey |
(@) SWEH 3@ HIN: M |
@) TEEE T
(i1) 7M™ T
(iii) T HHiT
Previous Pathshala P.T.O.
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(%)

gRfe: 3Tagq 1Y iy 3Ty I+ 4: fassfd |

() i
(i) Ry
(iii) darsT |
?ﬂﬁﬁﬁvﬁsﬂﬁ |
(i) foem s1vma:
(i) ToreAmm SrvmE:
(iii) ToreTq s1vma: |
I 7 ST |

(i) Rd fomm

(i) dd HE

(iii) 7 Faq |

FYfaRgdarRy  (@ifgaaeHl  Yfd-Scll Haisd  favss a1 3oy W

o o o M
ferehe ¥ Tefcal ToTEd | (ehelel IeT=IdseaH)

frfcifiea STt § (@ifehd 9l H Sehfd-Scdl ohl SRt A1 J&h hich Irad

3SR fopeui @ & g foafan | (Faet =) ue)

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from the

options given below. (Only four questions)

(%) SfaTieeRM S + Y, Tdeh! AYTTR s |

(@)

(i) PHHM:
(i) PHHTT
(iii) PHTIHTAT |

S Alfeheh: SHFgR: Y 3gHA: Wald |

(i) < +3h
(i) T + 3%
(iii) % +TqY |

Previous gathshala
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() afereprfy: s T+ qEA |
G)  TiideIn
(i) Ty
(iii) ;|
(|) T UEq + < 9d Tgpaid |
(i) Had™
(i) HIH
(iii)) #Hacd |
(&) ifteht forehe-shigram Feret + ag e |
(1) I«
(i) Huel
(i) SR |

A9 J&: 9a: Areauiade hedl Sdifeiad gale, 3: fored |

oo # QU U weg] i HEEAT 9= UiEdd i BY MEGRId §a1G

EET:%TF@QI

Re-write the following dialogue changing the voice with the help of words

given in the box.
IR0 — W | foh o i geEed 3fassty 2

T — T | BT 9Ta: gs=Ered (i) |
ITUT: — Tob ] aTfeent =ty 2

W — M ! (i) arfeeht = |

31eu; — foh gan forame Tesid ?

™ — 3] | geR (iii) T |
AT

foranmerg,  Seofierd, @ |

AAAT (OR)
JGIARGATT SR ArAINET $ed |
frefaRaa st o ar=g-afEdy i |
Change the voice in the following sentences.
(%) < 9IS YSfd |
(@) g w@: foaed |
(

)  HFeh: HAT HUN |

Previous ljathshala
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FgIfIRgaigT=ET RRe T Shraalgeweee: [&d | (had Teagsead)

frfefaa fer=m § o saml i 9id hrasies Seg) 9 i |
(haet IR )

Re-write the daily routine using words in place of figures.

(Only four questions)

(%) SIS dred Geeal fassify |
5:00

(@) — aTed Feafshan grareanty |
(M 9T Ared I U |

5:45
(=1) e TUTER TR |

6:15
(€) sEfmmem o Tesi

7:00

FIfIRgaaTey eI, Hes[umad: 3fad: Te™de: IWd |

(hael, TSI )

I q=2
2

freaferfiea amert # Ttk Tl <t gfd wosr ® U T 31e ug) % g i |
(et IR I)

Fill in the blanks in/ the following sentences with appropriate

indeclinable words given in the box. (Only four questions)

(F) @G _ A A |
(@) ehl: __ UTeehegehd shIS( |
(M SEW___ oo wfed, @ W el |
(=) uf= Tauisherst: Temfuarsiea |
(¥) wHseHm__ sty ?
He

3R, o7, Fa:, Td, IF

Previous ﬂ)athshala
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IgIfIRgaaTey W@Tgauey TEgH e | oT3[g Ug wuned g: fo@d |

CESR G L))
freferfaa arerl o T@iferd ug TG B | Mg IS I Tfea o g farfau |
(et IR )

Correct the underlined incorrect words in the following sentences.
(Only four questions) 1x4=4

%) dTeTeR! 918 Y3fd |

9) @ I T8 |

(
(
(T) &I HAT: gt |
(") fa: g9 Hidar afesafq |
(&) fcteht shrgeh: shifesATd |
wvus: 9 (SECTION D)
Gfed-sraaieas (ufed-Taaie)

Reading Comprehension 30 3
AYARGT TS FfSee JETIRAT, T HEhd foeEd |
ffefaa mams 1 get Tgu T S7A1 o ST §3hd § fafe |
Read the following prose passage and answer the given questions in
Sanskrit. 6

TEEEFIE J dlfeddel: fhfedag gt Afed | YEH 3% SEHveq
I | 35 AifgaTa: gy 3fd HRIa | 3T 3Tk g Teety 21y
Tfed | TEHTh TATINEN SRIRIAT huTfoad gEIa T g afecar A
T TRy | TAw g Trui e gdd | hRishueg gHfvaa: |
STAYTTG, T T |

(31) THUCH I | (had TRAGIH)
T Weg H I G | (A 31 =)
Answer in one word. (Only two questions) I1x2=2
(%) TEFUSY HET: IPHEA T ?
(@) ohEdaq gHfvaa: add ?
() TS O foRH S 2
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C)

PUCIERE 3T | (I TRTHERH)
quieTe H I ST | (Shadl T Te)

Answer in a complete sentence. (Only one question) 2x1=2
(%) hYT G TEYUI AT FAd ?
(@) wfagraaH = o fawre sehifsrar 2

o o M o e
Jeafasheu: 3ty I Fcar forad | (et See=Idsea™)
fou mu foeredt § @ Ifaa I e foafaw | (e wR 99A)

Choose and write the appropriate answer from the given

options. (Only four questions) éx4:2

(%) “Hawdr 300 HgIeE b ShaTIE TERl TR ?
(i) 3TEiq,
(i) Idd
(i) H=rd

(@) “wdwm” 3fd HeEuE v T ?
() TR
(i) IGTTHEAA:
(iii) PUSH:

(M) “oeRI 3Md U HET IEE ToRIvue_ ?
() SeEHUSH
(i) I
(iii) T,

Previous f)l_athshala
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(") ‘“avErg 3cad fob wHTIL 9g TR ?
() g
(ii) oFeEAT
(iif) =T

(¥) ‘e’ 3 vew foetmag & ey 2
H g
(i) 3™

(iii) 9o

AYARGT T&I IfSea] TEATHHM STV FEha. fer@d - |
frefeftad wer 1 qgert QT U Sl & 3o €6hd H. fffieaT |

Read the following poetry passage and answer the given questions in
Sanskrit. 6

TS |e1 3@, @ 4 JOahHIIH |
Tg feRa STean |rygg dHmeRd ||

(37) UHUCH ITA | (hadd IIgIH)
T Ieg H IR AT | (e qF T)

Answer in one word. (Only two questions) 1x2=2
(%) urfuATsa |el foh wafd 2

(@) &9 g@ wafd ?

() S T guTERd ?

Previous Pathshala P.T.O.
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C)

qUiATRA ITA | (had TeTHRH)

UiaTe § I AT | (had Th TH)

Answer in a complete sentence. (Only one question) 2x1=2
(%) ‘oI FaT g @ wald $id e HId: I ST=RUl At ?

(@) <: feeraR foh saeay 2

Jedtasheu: 3faay I Tocar fofed | (had Teadsey)
feu U foeheut § & 3faa 3T g fafan | (et 9 r w9 )

Choose and write the appropriate answer from the given

options. (Only four questions) éx4:2

(%) ‘e 5o fomme 6 g 2
(1) 9
(i) gEH

(iii) &

(@) ‘Ho sere Tt fopm 2
i
(i) T
(iii) ‘qua’ 3f

(M) R 3 framee e f 2

(i) THE:
(i) g
(i) gg:

Previous ﬁathshala
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(7)) ‘Gegr i UeH qae by SR ?
G <
(i) Taq

(ii1) &I

(F) ‘quasHm’ s faemag R 2
(i) ey
(i) HIfUE™

(iii) g:@Hq

AYARGT AT IfScal AT ST Fhad fered |
frefaifad reamer i dgeRt fou U et < 3T HEha § fifaw |

Read the following drama passage and answer the given questions in

Sanskrit. 6
Heh: — L WYA ! I q9 Feald 7 ey dfe i F: Uk ? 31d: o1gHa
THEUTI: TIAAHTS hTeh: |
TSgd: —  WI=d 99y | 3TgHa FRefitfaasht aferon T |
b — foreh, oA | oTeRa TEREERT: | (qq: wfawifa wehfawma)
THfd: —  (EIEH) AAH HA WA heAed | 318 Thfd: TI A S | I
g9 Td 79 TR | savme A fawd Jueme | |d: T oo

AT | 7 qTed heed 999 g1 a9 | fafaeen @ A Saq =
W Heead |

Previous Rathshala P.T.O.
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(31)

TehYCH ITA | (Shad TegaH)

T W16 H I G | (Shaet g IH)

Answer in one word. (Only two questions) I1x2=2
(%) fuse wafd &: qre™fd ?

(@) : e refifaady’ sfa weafa 2

(T)  SATCHH ‘FEUTH: ferEmTe 3fd *: HeRfd ?

UiETeRA A | (hadd TTTHEH)

UiaTeR § I AT | (hadt Th U9)

Answer in‘a complete sentence. (Only one question) 2x1=2
(%) wd: TS HEIT: MUT Fadd 2

(@) 9w &1 HA F TR 2

Yeafaeheur: 3feraq I facan for@a | (Shaet Teegsean)
fou mu foemedt § @ 3faa SR e fafaw | (haw =w ww)

Choose and write the appropriate answer from the given

options. (Only four questions) éx4=2

(%) ‘romat;’ 3fq we faemoy ?
(i) R
(i) HIHE

(iii) Tleqe

Previous ﬁathshala
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(@) ‘sreud GERRMEN: | o1 38y’ $fd FamIe Hed T ?
(i) ToEEE
(i1) s
(i11) <hThTA

(M) ‘orEar 3fd UeE THMILEh foh U ATee T ?
(i) Gd
(i) gHTRH,
(i) foer:

(F) ‘|d: w0 MAr 3 W HAAHIE HEH TIEH_ ?
(i) weh
(i) TSTEE™

(iii) - Srepedt

(8) ‘urcrnfy’ framiee wqug fomm 2
(1) <hlh:
(i) TEE:
(iii) 3T8q

@ITEAUETH MY TRAMAI $&d | (had T )
TEifehd Tei o MR W YA fmfor HifSw | (haet ) 7o)

Frame the questions on the basis of underlined words. (Only four
questions) I1x4=4

()  =ifepet: Ty STHgE fedrea Tl |
(i)  TERfd: HaH SaH Sed JiaeEfd |
(iil) TGl HETHRAS 371 AT |
(iv) =oad H4: WA a% wafd |

(v) INEY g@q e |

Previous Pathshala P.T.O.
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HoquTa: TgfEauer focan steifaRaavaieral: o= T |
HoST § & Hqfd UG g (HIIRga §797 Tailehi o 3Fad i U1 hIT |

Complete the prose order of the following fwo shlokas by choosing the
appropriate words given in the box. L 8=4

(%) 31ashar g1 fad qon arfa wag I | ’
qGATg: HRTCHH: HwcaiHid qeaa: ||
HaY: —
PRIRCSHE) don Al arfa (i) | (iii)
qed: q¢d (iv) 3fd 3Tg: |
(@) WOy Sa qTd o W |
3SHE WTeraed ANy faema: 1
HAY: —
qra | TE-AEGTa AU () Tl 3 (i) IENLGE
(iii) T (iv) |

HeSLTT

ey, HETCHM:, Yod, S1eshdl, Thedd, 36, WYY, & |

FTARIAHT oM FYFId WG foeheuw: focar forad | (Shadt TRe=deea™)
fretcfigd oMt o1 9qfad wa fashedi # 9 I faRae | (had 9r T9)

Choose and write the correct gist of the following sentences from the
given options. (Only four questions) I1x4=4

(%) e IrEvs: wedd: fay: = |
() Tgeq
(i) e
(iii) WA

Previous ﬁathshala
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T T T A |
(i) AYgIH
(i) TEgHH
(iil) ST

: Fe WU <I5hH, e |
() '\
(i) e
(iii) QU

TIeh, TR _ |
(i) EHEEY
(i) oIEqd:

(i) GgE

TAET g |
(i) T
(i) YaaTH
(iii) wfeafor

Previous j@athshala






